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General Instructions :

1. All questions are compulsory.

2. There is no overall choice. However, internal choices have been provided in three
questions of 3 marks category and 3 questions of 5 marks category.

3. Every part from Q1 to Q4 carry 1 mark each, total Marks 16.

4. Q5 to Q16 are very short answer type and carry 2 marks each.

5. Q17 to Q26 are short answer type questions and carry 3 marks each.

6. Q27 to Q32 are long answer type questions and carry 5 marks each.
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1.  Write one word for the following statements.

(@) The S.I. unit of frequency of sound. 1
(b) The type of combustion, represented by burning of white phosphorous
in air at room temperature. 1
(c) The revolution that was brought about in India in 1960's to increase the
production of food grains. 1

(d) The chemical substance that controls the changes at adolescence. 1
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freafafea eifvser & fau s v fafay -
(a) =& &1 AGMA hT TH.AE. AR

(b) HHE HREHRY i H& AIAM R T S W TH el Tg4 Fl TR
() ¥9RG ® a9 1960 H @ &Sl ol IHEA F@H o T @18 T8 Shifdl
(d) foremeren ¥ g arel aRadAl =1 af@a e aren qaEtes gged|

2. Fill up the blanks.

(@) The speed of an object , when force is applied in the direction
of motion.
(b) A ray of light passing through of the lens, goes undeviated

from the lens.
(c) Plastics are as they do not decay easily by natural processes.

(d) Stoppage of menstruation is termed as

e Tom vt -

(a) I I TG DI TG hl T H TC FTH R 3T 9% 1 1
8 Sl 2l

(b) Th @H & H ¥ Yo H el Th JehRT-fotor fomr 48 o
4 @ et S 2

() ™R & Fifr o Wiepfas Wishanstl g1 Wlerar § Sfqsfed
& Bl

(d) FqEE & ®F S HI Fed T

3. Choose the correct option :
(@) Gravitational force and electrostatic force are examples of (contact
forces / non-contact forces)
(b) Brightest planet in the night sky is (Venus / Mars)
(c) The zygote divides repeatedly to give rise to an (embryo / foetus)
(d) The period of life when the body undergoes changes leading to

reproductive maturity is called (Adolescence / Adulthood)
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TEl fashed &1 999 Hifed -

(a) TECRYUl ol ol TEeReR[ o 3% Sl € (e ool / ST
)

(b) WA STHRRT § Fad Afeeh FHH dren Th T8 (I / A7)

(0) TS TaR faifsa g I oA € (g / )

(d) ST et i 98 31dfe s TR & T8 uRedq e & foges aRomeesy
S afgererdr ot ® (fheieren / o)

4. Answer the following questions in short.

(@) Name the coded language based on the logical system used by visually

challenged persons. 1
(b) Domestic sewage released in rivers leads to death of aquatic animals. Justify. 1
(c) Define threshing. 1
(d) Name the type of asexual reproduction in Amoeba. 1

frafafed e 1 Hag ° s fafen -

(a) Sfte afya ATl g SYAN ol SIM STell difcher JUTel! T AEMRT IS
AT K1 AW fefem)

(b) R ¥ ferer el TE U Sl el 1 G i RO Sl @1 JHIE
Eal

(c) ofem =t g fafem)

(d) oriEr § B arelt Teifiteh g % YR ot M fafem

5. (a) Define electroplating

forgaerTd @t 9Rem fafen)
(b) Name the metals that are positive and negative electrodes of voltaic cell. 1+1=2

diees ¥ W fed soiaerel & o1g & A A

6. "The combination of plane mirror and water can act like a prism." Describe

an activity that supports this statement. 2

“ el <901 TE Sl 9 ®9 9 T {9 e 2| 39 A % gHen

[aWa

4 uw fampar &1 auia sifsa
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7. In the world of living organisms, frogs and insects use different methods
for production of sound. Justify the statement. 2
SaaRl Sd § Hash Te e &b 30 i & foru fafa= ot suam
F Bl 39 FeA w1 dfaa fag whu

8.  Explain the reasons behind the following facts :
(@) Formation of colourful bands in Jupiter. (two points)

(b) Comets are visible only when they come near the sun. 1+1=2
frafafead e & ROl &1 =aren wifsu

() FeWfd T W T o adt € (FE oY)

(b) gHHd gd & Y o W & fKEE | 2

9. Give reasons:
(i) We can boil water in a paper cup
(ii) Flame of burning candle goes off, when we blow over it strongly. 1+1=2
o fafey -
() TH HEE & HY H G IAA Thd 2
(i) STl WHet T ot g ST €, 59 ¥ ¥ W SR H Fh ARG 2

10. Mg+ CuSO4
/n + CaSO4

MgSO0, + Cu

No reaction

Give reason for the above observations. 1+1=2

ST gl & fau wmror fsm)

11. Suggest any two methods to check (control) pollution of water caused by
industrial waste. 2
frenfirer oTafereel R B aTel <ol 9guuT § 9= & forg R < fafeat
REERUE

12. (a) Name one implement used for weeding.

(
(b) State any one beneficial effect of transplantation. 1+1=2
(@) TRE & fau syam en ot et T sfiem 1 9™ fafey

(b) TTAATRH T Teh NN Je o]
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13.

14.

15.

16.

17.

a) Define food preservation.

b) Write any two uses of fungi like yeast in food industries.
a) @rE qiEer st gy fefEm)

b) ok, SW AL, & @E IAN H HE 3 3T fafem)

(
(
(
(

Classify the living organisms into different categories on the basis of the

cell number. Also write one characteristic feature of each category.

SiaenfiEl i wIfTRE ® Hea & SER U Fifled HRU B TH a1 H
T feem e oft fafen)

State two conditions under which the reproductive pattern of external
fertilization and external development succeeds.
3 T feufal s 59 YRR & @16t B9 ool YSH 9ee gl € i T

STt 3= 81 9ahl

The voice of boys gets deeper when they reach puberty. Write two possible

reasons for it.

AR Tk T T TS| i AR W 81 Sl 81 3Heh I GHI HR

fafem)

Give reasons for the following :

(@) Itis difficult to pull a rubber sucker pressed on a surface.

(b) We do not get crushed under the large atmospheric pressure acting
on our body.

(c) School bags are provided with wide straps to carry them.

frefafed & R dEy

(a) T T W AR AT T EE & Uk i ©id L IARAT Hhicd
eI 2|

(b) TR IR W YIE SeH dcl aYHESE @ ¥ 9 R g9 U =&l
STl |

o) Thell 9%l i ISH H SEl ufear e ST 2
o s
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18.

19.

20.

21.

Passage of electric current through conducting solution causes chemical
changes. List any three possible observations resulting from these chemical

changes.

fehddl =Tk faere @ foe o yanfed sH R q@Efe sifafeand et €
3 qEEfe Afafeanet & IRumSEEy i diF 99d g fafem)

(@) Define amplitude and frequency of a vibrating body.

(b) Which characteristic of sound is determined by its amplitude and
frequency?

(a) TRelt FUTHAM o7 & @M & AE & 9Rem fafen)

(b) & T i E TR SHs @M SR g g feiia e 82

OR (31941 )

"Excessive noise in the surroundings can cause many health related

problems". List any three ill effects of noise on our health.

“ofgwr | srenfue IR it SuRefd oM e Tert THEeT s v
T TRt B WR W SO g ar TRl i wen de faeni s g

AT

(@) Give the relative positions of sun, moon and earth on a full moon day
and on a new moon day.

(b) On the days following the new moon day, how does the size of the
illuminated part of moon changes? Also, name the term used for this
apparent change in size.

(a) g wE eHEE & fe3 §d, dgA qen geAl &t qoneh feerfd
EEIEM

(b) STHEE % € A Al fEAl H =5H & Y AN A1 AR fhE YR
FeAdl 27 AFN % T W URedd & U IuA 'R ol v
fafem|

Increasing use of fuels has harmful effects on the environment. Mention any

three such effects.

$e BT a1 g SUHNT JAGRY W MERE YHE ered g1 T R 99
JaTal 1 Soold ST
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22. An element 'X' burns in air with a bright white light and forms a white
powder which is found to be basic in nature. Element 'X', on heating with
water, liberates a colourless gas which burns with a popping sound. On the
basis of above observations, answer the following questions :

(@) Identify the element 'X'".

(b) Write the chemical name of the white powder formed.

(c) Write a simple method to show the basic nature of the white powder.

(d) Write the balanced chemical equation for the reaction of 'X' with water. 3
T O X S Bl H Sl €, e =SHeheN ULH! I B AR WhE wEed
o1 € S YN Wehfd w1 B1 ST 3E O Xl el § T fRan S €,
9% TH 9 T B S Sem W u e @ 21 e R W fefatea
e % S| Q

(a) X ©1q I TEaH|

(b) THS TSI T THER 9 <

() T fafy g/ T URE & YIRS YHfd & TH H1 GHIOT 3|

(d) o1g X' I W g8 THEiE foan o1 g foE

23. Read the given situation carefully and answer the questions that follows :

Meena was cooking on a gas stove, wearing a nylon dress.

Her father told her to change her dress and wear a cotton dress for working

near the gas stove.

(@ Why did Meena's father advice her not to wear nylon dress while
cooking?

(b) State two other disadvantages of using synthetic fibres for making
clothes. 1+2=3

3 T IRfefa & =AmyEe ufgr wd fHe=fated ge & W 3N ¢

HAT AR % HIS Ted 9 ger W G U W S st |

SH HUS <o HI FEl AR Gl HUS Ted H NH o b U HH wH

®T Heg <

() HHT o f9a1 9 IH ©@H1 GRd GHE ARG % e Al YgAT i Hellg
= €2
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24.

25.

26.

(b) Hyafod W+ o0 aH & AU ST FH T RE A T e
ERIEY

Explain any three methods used for water purification.

Sl IR & TRl 1 alehl a1 99 it

Write the name of disease causing micro organism, their mode of transmission
and one method of prevention for each of the following diseases :

(@) Cholera (b) Malaria

Fefafeaa I & fau WTehRer Fersid, a0l 1 RISl Td g=1d 6 Th
3u fafem

(@) Tom (b) TATE

OR (3A¥ET)

Write the name of a plant disease and its symptoms, caused by the following

micro organisms :

(@) virus (b) Bacteria
freAfefea geastal g/ aiel & g9 ol I H1 A o SqS Aeor fafe:
(@) drIH (b) SiE]
Complete the table given below :
S.No. | Ductless Gland Hormone Function
1 Thyroid (i) (ii)
2 (iii) Growth hormone (iv)
3 v) (vi) Lowers the blood
glucose level.

% | oA gt Uty BkIE Fr
1 AT (i) (i)
2 | (iii) gig TEHA (iv)
3 (v) (vi) T Y R Hl HA
Fdl 2l
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OR (3A9aT) 3

(@) Enlist any two personal hygienic measures that help adolescents to

stay healthy.

(b) Hormonal balance in adolescents shifts them towards their adult state.
Justify.

(a) SAFKET W=adl & iz al A fafEw S R o @ee | H HeR
FW T

(b) FeR o emiqel Gqer S= a%hdl &1 R o A @1 Sfifuer wifed
Al

27. (a) State the rules which govern the propagation of a ray of light when it

goes from one transparent medium to another.

(b) Mention the position, size and nature of image formed by a convex lens
when the object is placed
(i) between F and 2F points of lens.
(ii) at the 2F point of lens

(a) TR fRTor & Tk © TR RSN "iegm H g9Ror i i s 9
fram fafem)

(b) TRelt o%g & I @9 R SAY T Yfafed @1 Refd, oTeR @ g

1 Seol@ hill, Seich o8 &
(i) o8 % Fud 2F fagedl & 9 Tt &
(i) o9 & 2F fo9g T &R &I

OR (3A¥ET) 2+3=5

(a) State the correlation between the following :
(i) the speed of light through a medium and its optical density.
(ii) Refractive index and optical density of a medium.
(b) Draw a labelled ray diagram to show the formation of image of an object

placed at 'F' point of a convex lens. Also mention the nature of the image.
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o o

(a) Tr=fafem & o9 TREIR® H9Y9 FaET :
(i) Ueh ATEEH H YT hi A TF WEAH F GhRIT o6
(i) ek HIEIH Kl 3TYedeh Fodich Td IHHI JREII B

(b) T 30 @¥ & ‘F' 65 W @ T I & lafad & 0 * 00
U T 3ifchd foham g3m ol 3IR@ sAET)

Alternative question for visually challenged students in lieu of part (b) of
choice question.
gfte = faenfiiei & faT wmr (b) =0 SeRfeass w9
(b) Define the following in context of a lens : 1+1+1=3
(i) Optical centre
(ii) Principal axis
(iii) Radii of curvature
(b) THk o & HeH d frefafed &t oy fafew .
(i) WHEMNT DR
(i) THE TeRE
(iii) ka1 =2
28. (a) State any one cause of myopia and hypermetropia each.
(b) Differentiate between optical and non-optical aids.
(c) Name the part of the human eye which is responsible for the following :
(i) colour vision
(ii) holding the eye lens in its position. 2+2+1=5
(a) Frepe e < wdl < gfie < 1 Teh-TE e )
(b) ATdfeshel T A ATdfehel I A1 94 T A
(©) T & T & 3@ 90 & M fafee s frefatea & fow sweEt @:
(i) 3
(i) 7 & g AT e R W & fag
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29. (a) Name and define the steps generally involved in extraction of a metal
from its ore.
(b) (i) Define an alloy.
(ii) In what ways are alloys better than metals? (two points) 3+2=5
(a) T © o1 % fr=huu § Hag ufshaned o W wd Ry fafem)
(b) (i) Thfzd =g i it fafem)
(i) Tafe emqd, omqeti @ fFE ¥R de@ €2 (] faY)

30. (a) Write the names of two types of synthetic plastics and give one example
of each.

(b) List six characteristics of synthetic plastics. 2+3=5

(a) HIAtA W & & YR & AW fafeq Td M &l Th-Teh I
SIS
(b) WEATA TR & ol S: fafvre Ton &1 F= IEul

OR (21974 )
Give reason for the following : 1x5=5
i) Rayonis not truly an artificial fibre.
ii) Acrylon is used for making blankets.

(

(

(iii) Nylon is used for making ropes.

(iv) Bakelite is used for making electrical switches.
(v

) Melamine is used for making kitchen ware.
fr=fefed 1 wror Jasy -
(i) W@\ T oA o T Gvafta [ e 2l
(ii) Ufhel =l Hee a9F & e v famn s 2
(iif) e, el FE & T ST @)
(
(

iv) Seherrge W fasiell & feom amT s 2

v) HemEd § E % odq S S R
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31. Give one characteristic feature and one main function of following parts of

cell :
(@) cell wall (b) chloroplast
(c) Mitochondria (d) Golgi complex

(e) Ribosomes

IR & TAffEad 9r 1 T fafite @0 1d ts g & & 9aq6y ¢
(a) =RifereRt fHfa (b) BReTeh

R ECICA IRl (d) TeSRT™
T

32. Name the four main organs of female reproductive system. Also explain the
function of any three parts.

TR JS4 YOt & =9R G&A ST o AW fafem) g8 9 ff=l dF o &

T T JUF 9T BT
OR (319941

Define metamorphosis. Enlist any four remarkable changes that occur in the
body of a tadpole during this process.

HEFRY F Ui fafeu @ 9w % IRE deud % YR W e o
fR=l ar sTaEmo aREdHl st gt IRy
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